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Class-seventh

Sub-science
Chapter- Nutrition in Animals and Humans

Q.1 Digestion needs the help of two more systems in the body to
provide energy from food.

(a) Name these systems

Ans These systems are circulatory system and respiratory system.
(b) How do they help for providing energy from food?

Ans Digestive system digest food and convert it into nutrients.
Respiratory system helps in oxidation of this digested food.
Circulatory system helps in transport of nutrients to several body
organs.

Q2 Which food will take longer to get digested — glucose or beans?
Ans The beans will take a longer time to digest than glucose.

Q3 Which component of grass is indigestible? Do not you think if
grass is made digestible in human system, the food scarcity will
be over?

Ans Cellulose component of grass is indigestible. Yes, if we
human beings start to consume grasses if we are given the
required

digestive system,z there will be no scarcity of food.

HINDI HW
Today is test, so no homework.
But you have to learn the questions

- from test. -
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ENGLISH H.W
Chapter 6 exercise do in your book

and try to solve
section ¢ q1 and q2 .

bal sansad a group of student leaders who discuss issues relateq
to school
student speaker the leader of the student’s parliament
. cabinet advisors to the speaker
3 opposition parliament members who are not in the cabinet
gales of laughter  loud laughter
upend turn upside down
the House the student parliament
home ministry the section responsible for internal security
secular not religious

table to present something formally for discussion

gavel

A Read the story closely and select the most suitable answers.
1. Kaaval was mentioned at the meeting because
a) she had died recently. l/
b) she guarded the school well.

¢) all the students loved her.
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he programme for keeping the school clean was introduced through
a) afilm\”

b) atalk.

C) Japanese visitors.

The boys would be supervised at games because

a) there was no schedule for them.

b) they would have to play with the girls.

C) the teacher did not trust them to be careful with the equipment. v
The two students were not doing their homework because

a) they werelazy.

b) they were too busy after school hours. Pl

©) they did not understand what they had to do.
The opposition member believed
a) that everybody should be treated the same._—"

b) that each person should be given what they need to be successful.

c) in not losing his temper.
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Answer these questions in brief. et
1. List the five issues that were raised by the bal sansad.

----------------
...............................................................................................
.
--------------------------------------------------------------------------------------------------------------
“

---------------------------------------------------------------------------------------------------------------

e)
Give two reasons why schools should provide drinking water.
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Class-7th SST Date-3/6/2020

Chapter-5(Women change the
world)

WOMEN TODAY....

i Il L
., &

» By getting education, women have got opportunities
to rise in every field.

» Women's movement have risen to challenge
discrimination in all parts of the world.

 Today both boys and girls attend school in large
numbers.

Watch the video on this topic
and write about opportunities
forwomen..

Fewer Opportunities and Rigid
Expectation

» Alot of people feel that women are fit only for
certain kinds of jobs like nurse.

* They are not fit for the technical jobs.

» In most families, women are taught that after school
they have to get married.

» Laxmi Lakra, however, broke this stereotype image
when she became the first woman engine driver of
the Northern Railways.

» We live in a saciety full of pressures. If boys
do not work hard get a good salary they are builded.
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